RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

K525D

Kawasaki ZX-6R 636 2019-

Kit for left side Kit for right side
D. Description Cat.No. | PC ID. Description Cat.No. | PC
1 Dural. adapter under slider 537 1 1 | Dural. adapter under slider 537 1
2 Dural. roller I=20mm 10 1 2 | Dural. roller I=20mm 10 1
3 Dural. roller I=35mm 1341 1 3 | Dural. roller I=30mm 1342 1
4 Bolt M10x110x1,25mm 928 1 4 | Bolt M10x115x1,25mm 894 1
5 Washer M8 800 2 5 | Washer M8 800 2
6 Bolt M8x25mm 815 2 6 | Bolt M8x25mm 815 2
7 Washer M10-spring 801 1 7 | Washer M10-spring 801 1

Note: We recommend using medium strenght thread glue for all bolts (blue color).

Mounting the left side:

1. Remove the original screw from the motorcycle frame.

2. Insert screw ID.4 into spring washer ID.7 and then into duralumin. adapter under slider ID.1.
3. Next, slide the ID.2 duralumin roller onto the screw and duralumin roller ID.3. Mount this
entire assembly in the motorcycle frame.

4. Place the slider on the ID.1 duralumin adapter and to mount from the back using the ID.6
screws with the ID.5 washers.

Mounting the right side:

1. Remove the original screw from the motorcycle frame.

2. Insert screw ID.4 into spring washer ID.7 and then into duralumin. adapter under slider ID.1.
3. Next, slide the ID.2 duralumin roller onto the screw and duralumin roller ID.3. Mount this
entire assembly in the motorcycle frame.

4. Place the slider on the ID.1 duralumin adapter and to mount from the back using the ID.6
screws with the ID.5 washers.




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz




